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(c) FigureS5isa géﬂlagical blank cross-section along line X=Y on Map 1.
Complete the geoclogical cross-section in Figure 5 along the line X-Y. [5]
Fault F1 has a dip of 70 to the west. E
land surface
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2 marks 
As there is no intercept of the beds on the surface the candidate does not achieve any marks for the bed dip or direction. Marks are awarded for the correct plot of the fault dip angle and dip direction. 
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(c) FigureS5isa géﬂlagical blank cross-section along line X=Y on Map 1.
Complete the geoclogical cross-section in Figure 5 along the line X-Y. [5]
Fault F1 has a dip of 70 to the west.
land surface
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Question 4 (a) (i)

In Figure 4b draw to scale, the main geological features shown in Figure 4a. [5]
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Sticky Note

Candidate B scored 2/5

The candidate has been awarded 2 marks for drawing a fault and the bedding planes. The sketch is not to scale. The marker bed cannot be identified.























4,

13

Figure 4a is a cliff face that cuts through a small fault in the area shown on Map 1.

North South

Figure 4a

(a) Referto Figure 4a.

(i) InFigure 4b draw to scale, the main geological features shown in Figure 4a. [5]

0 1
L
m
Figure 4b
(i)  On your drawing in Figure 4b label the downthrown side of the fault. 1]
(i)  Using Figure 4a measure the displacement along the fault. 1]

© WJEC CBAC Ltd. (C480U20-1) Turn over.
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Question 5 (b)

Using evidence from Map 1 and your identification of Rock Unit D, evaluate the suitability of
Locality 5 as a possible site of a reservoir. (4]











Question 5 (b)

Using evidence from Map 1 and your identification of Rock Unit D, evaluate the suitability of
Locality 5 as a possible site of a reservoir. (4]























Marks Available

Question Marking details
AO1 | AO2 | AO3 | Total | Maths | Prac
@ | @ Reaction with cold dilute HCI (1) 5 5 5
Drop acid on mineral (1)
Cleavage (1)
Three regular surfaces (1)
Scratch mineral with finger nail, copper coin (1)
(i) Limestone (1) 1 1 1
(b) Any four x (1) from: 4 4
Advantages
e Limestone strong rock so stable dam foundations
e Horizontal beds to the East - so stable
¢ High run off from the east to fill reservoir
Disadvantages
e Leakage from faulting/jointing
e Leakage from permeable limestone
e Limestone collapse/sink holes
e Fault movement possible so instability
e Beds dipping away therefore leakage along the bedding plane
Question 5 total 6 0 4 10 0 6
Component total 26 35 19 80 21 35

C480U20-1 EDUQAS GCSE Geology - Component 2 MS S19/DM
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Question 5 (b)

Using evidence from Map 1 and your identification of Rock Unit D, evaluate the suitability of
Locality 5 as a possible site of a reservoir. (4]
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Sticky Note

The candidate has identified both advantages and disadvantages of building a reservoir at Locality 5 and has fully explained each factor.











Question 5 (b)

Using evidence from Map 1 and your identification of Rock Unit D, evaluate the suitability of
Locality 5 as a possible site of a reservoir. (4]




roberm

Sticky Note

The candidate has identified the dip, permeability of the rock and the fault as potential problems. To achieve 5 marks, the candidate needed to include another disadvantage or one advantage for Locality 5.























5.

Figure 5a shows mineral Q which was collected from Locality 5 on Map 1. Mineral Q is the only

mineral forming Rock Unit D.

@ ()

Complete Table 5 which refers to tests most

Figure 5a.

15

Figure 5a

You may wish to refer to the Data Sheet.

useful for identifying mineral Q in

Test name Description of test Result of test
colour ﬁgﬁfrve mineral in natural white to colourless
effervesces giving off CO,
Look for regular planes of
weakness
hardness is between 3.5
hardness and 2.5 on Mohs hardness
scale

© WJEC CBAC Ltd.
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(b) Using evidence from Map 1 and your identification of Rock Unit D, evaluate the suitability
of Locality 5 as a possible site of a reservoir. [4]
10
END OF PAPER

Acknowledgement

Figure 4a http//www.pitt.edu/~cejones/Geolmages/7structures
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Marks Available

Question Marking details
AO1 AO2 AO3 Total Maths Prac
2 @ | @ Calcite (1) 1 1 1
(i) | Any three x (1) from: 3 3 3
e rounded / high sphericity
e 1-1.5mm (allow one value or a range stated between
0.5-2mm)
e medium sized
well sorted
e oolitic/ooliths
) | ® To scale (1) 3 3 1 3
Correct shape (1)
Detail of septa (1)
(i) | Coral (1) 1 1
(© Indicative content 6 6
Cold —false
¢ warm waters for CaCOs to precipitate
e corals live in tropical waters / 23-29°C
Low energy - false
¢ medium sized grains
e require medium/high energy to be transported
e coral needs medium/high energy for oxygenated
waters/circulation of nutrients

© WJEC CBAC Ltd.






Question

Marking details

Marks Available

AO1l

AO2

AO3 Total

Maths

Prac

Shallow —true

e needs to be shallow for CaCOs to precipitate

¢ shallow for light to penetrate for algae within coral

¢ shallow to be affected by waves

¢ shallow for rounded grains to be transported back and
forth

Marine — true

¢ modern corals only live in marine environments

e wave action for transport of ooliths / rounded grains
e the calcium carbonate is derived from marine shells

5-6 marks

There is a clear response which draws upon the
interpretation of a minimum of three of the four points
(cold, low energy, shallow, marine). Explanations are
developed from both Figure 2a and 2b. The sources of
evidence are interpreted coherently as outlined in the
indicative content above. Conclusions/evaluations are
made that supports the views that have been argued.

There is a sustained line of reasoning which is coherent,
substantiated and logically structured. The information
included in the response is relevant.

© WJEC CBAC Ltd.






Question

Marking details

Marks Available

AO1l

AO2

AO3

Total

Maths

Prac

3-4 marks

The response draws upon the interpretation of a minimum
of two of the four points (cold, low energy, shallow,
marine). The sources of evidence are interpreted quite well
as outlined in the indicative content above. There is some
attempt at an evaluation of the evidence. A conclusion is
drawn that supports the view that has been argued.

There is a line of reasoning which is partially coherent,
supported by some evidence and with some structure.
Mainly relevant information is included but there may be
some irrelevant information or minor errors.

1-2 marks

The response makes use of the interpretation of only one
or two of the four points (cold, low energy, shallow,
marine) with rather superficial comment. There may be a
lack of relevance in places. There is little evidence of
evaluation, although there may be a conclusion that
supports the view that has been argued.

There is a basic line of reasoning which is not coherent,
supported by limited evidence and with very little structure.
There may be significant errors or the inclusion of much
irrelevant information.

0 marks
No attempt made or no response worthy of credit.

© WJEC CBAC Ltd.






Marks Available

Question Marking details
AO1 AO2 AO3 Total Maths Prac
(d) Any two x (1) from: 2 2 2
e heat from the pluton
e recrystallised
e contact metamorphism
e Fig 2d is marble
Question 2 total 5 5 6 16 1 9

© WJEC CBAC Ltd.
























2 marks awarded
The candidate is able to identify both the oolitic limestone and coral. However, although the environment and the conditions are stated they do not include an explanation. There is some attempt at evaluating the statement although the response is not sufficient to move into a higher mark band. 























 3 marks 
The candidate only refers to one of the two figures. They have a partial understanding of how oolitic limestone forms, however they are confused about the composition of the mud and energy of the environment. Although they have stated correctly a shallow, warm, marine environment there is very little explanation. 
























Awarded 6 marks 
The candidate demonstrates a thorough understanding of the formation of oolitic limestone and the conditions required for the growth of coral. There is more emphasis on the coral with the response including well developed explanations.  
�
















2. Figure 2a is a microscope view of Rock Unit B collected from Locality 3 on Map 1.

Rock Unit B
* composed of only
one mineral

» effervesces with
hydrochloric acid

Figure 2a

05
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(b) Figure 2b is a photograph of a fossil found in Rock Unit B at Locality 3 on Map 1.

scale x 1

Figure 2b

06
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(c) Referto Figure 2a and Figure 2b. Evaluate the statement “Rock Unit B formed in a
cold, low energy, shallow marine environment”. [6 QER]

07
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(c) Figure 5is a geological blank cross-section along line X=Y on Map 1. ghm?‘r -

Complele the geological cross-section in Figure 5 along the line X-Y. [5]

Fault F1 has a dip of 70 to the west.

land surface
o /
* i il
1 m - x - . - - Y
- ~ =
- :
.~ S L ?m“uﬂ l
m :
ﬁ b ; - - \ -
0- - ~
Figure 5
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(c) Figure 5 Is a geological blank cross-section along line X-Y on Map 1.

Complete the geological cross-section in Figure 5 along the line X-Y. (5]
Fault F1 has a dip of 70 to the west.

land surface

1004 X

" Figure 5
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_ _ _ Marks Available
Question Marking details
AO1 AO2 AO3 Total Maths Prac
5 (@) West (1) 2 2 2

North-south (1)

(b) It is a synform because the limbs dip towards the centre (1) 2 2
Inclined because the limbs have an unequal dip / unequal
width of outcrop (1)

(© Any bed dipping at 30° from the surface (credit 25°-35°) (1) 5 5 5 5
Beds on both sides of F1 dipping towards west (X) from the
correct surface plots (1)
Fault dipping at 70° (credit 65-75) (1)
Fault dipping to the west (to X) (1)
Rock Unit C stops at fault (1)

(d) Compression (1) 2 2
Hanging wall upthrown or footwall downthrown / it is a
reverse fault (1)
Question 5 2 9 0 11 5 7

© WJEC CBAC Ltd.
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(c) Figure 5is a geological blank cross-section along line X=Y on Map 1. ghm?‘r -

Complele the geological cross-section in Figure 5 along the line X-Y. [5]

Fault F1 has a dip of 70 to the west.

land surface
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4 marks 
Although the candidate has incorrectly plotted the dip direction of the bedding planes towards Y, they achieve 4 marks for the correct bed dip angle and fault dip angle and direction of dip. 
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(c) Figure 5 Is a geological blank cross-section along line X-Y on Map 1.
Complete the geological cross-section in Figure 5 along the line X-Y. (5]
Fault F1 has a dip of 70 to the west. E
land surface
1004 X
m
n_
" Figure 5
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1 mark 
The candidate achieved 1 mark for the correct dip direction of the beds. The beds should have been drawn at 30 degrees as indicated on Map 1, rather than at 70 degrees which is the dip angle stated in the question for Fault F1.
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(c) Figure 5 is a geological blank cross-section along line X=Y on Map 1.

Complete the geological cross-section in Figure 5 along the line X-Y.

Fault F1 has a dip of 70 to the west.

land surface

100

Figure 5

[5]

14

© WJEC CBAC Ltd. (C480U20-1)

Examiner
only






GCSE

;_ =
UJJEg C480U20-1A O edUQGS‘
C bo C Part of WJEC

FRIDAY, 10 JUNE 2022 - AFTERNOON

GEOLOGY - Component 2
Investigative Geology

MAP EXTRACT

© WJEC CBAC Ltd. BE*(Y20-C480U20-1A)





Map 1

F1

i ey i p e i

Locality 6

Locality 5

Locality 2

T

7 _.
[ [T ]
W EEE W
7 Il

|

T——

—— _7 7 T
N - —
W
[
|

T

I I
7 T

metres

| Locality 4 | | Locality 3 |

Locality 1

Key

Hydrothermal vein

Rock Unit A

The rock units are not in order of age.
Their ornament is not necessarily

representative of rock type.

<@
o
= ®
-
7]
£ E &
m.dmb
o & S
o > 5
m_..lmn
s 5§28 5
ae.muo...ﬂ
L = 0O aJ o
v
\ | ¢ °
€ ()]
\ | 5
| -
Q@
©
N
@
m O O W w
2 o2 =2 o2 o=
o0 DO O O DO
X X ¥ X X
O © © © O
6 6 6 o6 ©
¥ ¥ r ¥ o
I
|
|
|
|

(C480U20-1A)

© WJEC CBAC Ltd.










18

|
-

(c) Table 7 shows the grain size distribution of bed 2 in Figure 6a.

2]

Grain size (mm) Fﬁﬁgﬁﬁfﬁﬁ“
2-4 0
12 0
05-1 60
0.25-05 35
0125-0.25 o
0.0825-0.125 0
Table 7

only
|
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(¢} Table T shows the grain size distribution of bec 2 in Figure 6a.

[2]
Percentage mass
Grain size (mm) of graing (%)
2—4 4]
1-2 0
0.5-1 60
0.25-0.5 35
0125-0.25 5
0.0625 - 0.125 0
Table 7

18
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(c) Table 7 shows the grain size distribution of bed 2 in Figure 6a. b

(2]

Grain size (mm) PE;?E?;?F?: {r;;?ss |
|2-4 0

1-2 .

05-1 e

0.25-0.5 35
0125-0.25 B

0.0625 - 0.125 0 |

Table 7
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Question

Marking details

Marks Available

AO1l

AO2

AO3 Total

Maths

Prac

6 @)

Coarse grained / reference to size (Imm -125mm) (1)
Rounded / low sphericity (1)

2

(b)

(i)

20 (1)

(ii)

Random
Not random because majority N-S (1)

High Energy River

Any two x (1) from:

e coarse particles moved by high energy/river current

e rounded clasts indicate high energy river
attrition/abrasion (must reference ‘erosion’ in some
form)

¢ high energy/river could align the particles
unable to confirm as a river

e could be marine

From the South
Could have been from the south or the north/ cannot tell
from this data (1)

(€)

Height of 3 bars correct (1)
Accuracy/quality of plot (1)

(ii)

Well sorted (1)

© WJEC CBAC Ltd.
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Marks Available

Question Marking details
AO1l AO2 AO3 Total Maths Prac
(d) Any three x (1) from: 3 3
e large scale cross bedding — wind-blown in sand dunes
e size 0.5mm/medium could be moved by wind
e rounded grains — due to attrition and abrasion by wind
o well sorted — size selected by wind
¢ red cement/haematite — oxidised, terrestrial therefore
supports aeolian transport
e grains all composed of quartz — hard, no cleavage,
softer minerals destroyed by high energy transport by
wind
Question 6 5 4 4 13 3 2

© WJEC CBAC Ltd.
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(c)

Table 7 shows the grain size distribution of bed 2 in Figure 6a.

(2]

Grain size (mm) P“;“f“g':;'}g: t’.;‘a?“
2=t 0
1-2 > 0
0.5-1 u'f 60
025-05 v 35
0125-0.25 5
0.0625 - 0.125 /| 0
Table 7

-

only
|

18
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2 marks 
A mark has been awarded for stating the size of the quartz grains and linking it to wind transport. Although the candidate does not correctly identify the cross- bedding the link between the wind and how cross-bedding forms is sufficient to award a second mark. 










18

(¢} Table T shows the grain size distribution of bec 2 in Figure 6a.

[2]
Percentage mass
Grain size (mm) of graing (%)
2—4 4]
1-2 0
0.5-1 60
0.25-0.5 35
0125-0.25 5
0.0625 - 0.125 0
Table 7
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1 mark 
The candidate correctly identifies cross bedding and explains that it forms due to wind blowing the sand. 
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(c) Table 7 shows the grain size distribution of bed 2 in Figure 6a. b

(2]

Grain size (mm) PE;?E?;?F?: {r;;?ss |
|2-4 0

1-2 .

05-1 e

0.25-0.5 35
0125-0.25 B

0.0625 - 0.125 0 |

Table 7
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3 marks 
The candidate has interpreted the size of the grains and linked it to wind transport. They have also linked high wind speeds to desert conditions. Although the candidate does not identify the cross bedding, the link between the wind and how it forms is sufficient to award a mark. 
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[2]

Grain size (mm)

Percentage mass
of grains (%)

2-4 0
1-2 0
0.5-1 60
0.25-0.5 35
0.125-0.25 5
0.0625 - 0.125 0

Table 7

18
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Examiner
[
(d) Figure 6e shows a sedimentary structure found in bed 2. Figure 6f shows detail of the o
texture of bed 2.
quartz grains 0.5mm
in diameter cemented
by haematite
Figure 6e Figure 6f
Refer to Table 7, Figure 6e and Figure 6f.
Explain the evidence from bed 2 which suggests that it was deposited by wind. [3]
13
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Question 4 (a) (i)

In Figure 4b draw to scale, the main geological features shown in Figure 4a. [5]











Question 4 (a) (i)

In Figure 4b draw to scale, the main geological features shown in Figure 4a. [5]























Question

Marking details

Marks Available

AO1

AO2

AO3 Total

Maths

Prac

(@ | @)

To scale (1)
Fault (1)

One marker bed shown appropriately displaced either side of the fault (1)
Accuracy of sketch (appropriate dip angles and bed thickness) (1)

Additional bedding planes or joints (1)

5

1

(ii)

Label on northern side of fault (1)

(iii)

1.2 m (acceptrange 1.0 - 1.3 m) (1)

Compression (1) R

Any two x (1) from:
e |tis areverse fault
¢ Hanging wall upthrown/footwall downthrown
e Crustal shortening

Question 4 total

© WJEC CBAC Ltd.
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Question 4 (a) (i)

In Figure 4b draw to scale, the main geological features shown in Figure 4a. [5]




roberm

Sticky Note

Candidate A scored 5/5

The candidate has drawn an accurate sketch of the fault. All 5 marks have been awarded as the sketch is to scale, clearly shows the fault and the displaced marker beds. The beds are the correct thickness and the beds on either side of the marker bed have been drawn.












